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AD KFEE (REEE):

To what extent do you agree or disagree.

Bl It is inevitable that traditional cultures will be lost as technology develops. Technology and traditional
cultures are incompatible. To what extent do you agree or disagree?
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PR LIS
It is true that technology is developing at an incredible rate, and that traditional societies and cultural practices are
disappearing as a result. I therefore agree with the view that technology and traditional cultures cannot coexist.

AR
Some people would argue that technological developments lead to the disappearance of traditional societies and
cultural practices. I completely disagree with this view because I see no reason why technology cannot coexist with

traditional cultural and even enhance them
TEIX LR IR PR =Pl SR H 1A .
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Some people would argue that technological developments lead to the disappearance of traditional cultures. While
this may be true in the case of some societies or customs others seem to be unaffected by technology and the modern
world.

EXINCQE
On the one hand, the advances in technology that have driven industrialisation in developed countries have
certainly contributed to the disappearance of traditional ways of life.

FRE 2:
On the other hand, in some parts of the world traditional cultures still thrive.
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In conclusion, many traditional ways of life have been lost as a result of advances in technology, but other

traditional communities have survived and even flourished.
BG KiEE (VAW #):

Discuss both sides and give your opinion.
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TERBL: E
People have different views about whether punishments for crimes should be fixed. Although there are some

advantages of fixed punishments, I believe that it is better to judge each crime individually.
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There are some good arguments for having one set punishments for each crime.

TARBL: FZIGOUAL T I At
However, I would argue that the circumstances of a crime and the criminal’s motivation should have an influence

on the punishment.

MEEB: BRI
In conclusion, despite the advantages of fixed punishments, it seems to me that each crime should be judged

taking both the circumstances and motivation into account.

PN 558 (R RB):

Do you think it is a positive or a negative development?

These days more fathers stay at home and take care of their children while mothers go out to work. Do you think it

is a positive or a negative development?

XA H IR — R R . AT EE R, 1] B ARAIRE AR, P DAAE 8125 R I A R 31 51 A
EaE. REMTTUA=MEZETNA: 1, RIANRZRBRAAE: 2, FIANZZAERAAE: 3, FIANX
AR 5T, R A VAR A D7 T

PRI SCRE —HF, AR — € EAETT SR Bost IR RO AL, AR5 1 3 R B tH ARG O BE ol B0 ke, B Jm A2 1
LEBURREI AL IRARE G AT AL =R IR — 8 BAETF L BAE M T AR S 2 . 723X HLERIE 2
VY B [ 2

kB (B — RIS T, 55 AR B D
There has been a rising trend in many countries for more and more men to stay at home to look after children
when women work full time. This essay shall explore the reasons behind this change before coming to the conclusion

that this is a positive rather than negative development.

FERBL CGRYIRED
The main reason behind this change is that there has been a rise in female equality throughout the world The main

reason behind this change is that there has been a rise in female equality throughout the world

FRE G T IR AR ) SO

1) itis negative as it goes against traditional values and that men should be working instead of looking after
children.

2) fathers are not as good as mothers at raising children.

3) If women can get a higher salary, the family will be in a better economic condition.
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The fact that more and more stay-at-home dads are appearing is evidence that society is becoming more equal. So,
this is a very positive thing.

C&S RIEH (WER):
In many parts of the world children and teenagers are committing more crimes. Why do you
think it is the case? How should children or teenagers be punished?
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It is not necessary to travel to other places to learn about the other culture. We can learn as much from books,
films and the Internet. To what extent do you agree or disagree?

Nowadays, there are a vast number of books, films and websites on the internet which teach us about the world and
other cultures. There are some people who believe that because of this it is no longer necessary to travel to other
places to learn about culture. But I consider it is necessary to travel to learn about other culture.

On the one hand, books and films are an exciting way to learn about other culture. Books and films have the power to
transport us to new places in our imagination, which lets us experience a vast array of cultures without ever having to
leave home. Furthermore, it is much cheaper to access books and films than it is to travel to another country.

Therefore, it is a more accessible way for people to learn about and experience different cultures.

However, there are also some disadvantages to learning about other cultures through books and films. Firstly, books
and films are created by an author or a director. This means that we experience other culture from one person’s
perspective and opinion, which may be biased. Secondly, when one travels directly to a different place, they can
experience other cultures directly and unmediated. It is a more influential experience because we might quickly forget
what we read in a book, but memories of the actual experience will last for a long time.

To conclude, although books, films and the internet are a cheap and easy way to access other cultures, they are no
comparison to the authentic experience of travelling to new countries. Therefore, I believe it is still necessary to travel

to other places to learn about other cultures.
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Some people think that the large amount of young people in university only leads to high rates of unemployed
graduates. To what extent do you agree or disagree?

As a higher proportion of people gain access to higher education there is an increasing worry that this only leads to
high rates of unemployed graduates within society. Although the increasing amount of university graduates may
indeed cause unemployment problems, there are still many benefits to high levels of university education.

On the one hand, as more people study at university, often there becomes a surplus of trained professionals that a
country’s infrastructure cannot support. For example, many people may train in law but there are only a limited
number of law firms within a city. This creates a large problem as there become citizens who have spent large
amounts of money obtaining a university degree which is now not useful to them. Furthermore, when unemployed an

individual does not contribute to the nation and thus become a cost on society.

However, this opinion takes a very limited view on what the purpose of university education is meant to be. Not
every person values their education based only on its ability to acquire them a high paying job in the future. Many
people appreciate knowledge for knowledge’s sake, and would like to better themselves regardless of what career
they may have in the future. One particular example is those who study the arts and humanities. There are not many
career options for these degrees yet people still value studying them.

Thus, to conclude, whilst it is true that an increased amount of young people going to university may increase
graduate unemployment levels. This is not the only outcome of an increased attendance within higher education.

There is value to education outside of its career value.
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Some people who have been in prison become good citizens later. Some people think that they are the best
people to talk to school students the danger of committing a crime. Do you agree or disagree?

It is a commonly held belief that some of the criminals who are released from prison will turn over a new leaf. There
are those that hold the position that these ex-convicts are the best candidates to educate school children to stay away
from crime. I wholeheartedly disagree with this opinion.

On the one hand, I believe the vast majority of criminals suffer from psychological problems. These are individuals
that willingly decide to commit heinous crimes, such as theft, robbery, sexual assault, etc., because they wish to attain
something with ease and at little cost to themselves. They want straightforward and direct methods to achieve their
desires in an expedient manner. Criminals are often self-interested and mercenary. They only have considerations for
their own interests and seldom reflect on how their actions shall affect their victims. Once that mindset is established,
it is difficult to overcome after you have been released from prison. Therefore, I believe these ex-convicts are

completely unsuitable to teach minors.

On the other hand, the recidivism rate of ex-convicts released from prison is significantly higher than that of ordinary
citizens. Many countries have recidivism rates as high as 30%. Due to such evidence, I struggle to believe that any
criminal can truly be rehabilitated. Therefore, to have children educated by ex-convicts would be to put them at
serious risk. Once a crime occurs at school, there shall be many students hurt, which shall result in serious
consequences. Overall, I believe that the most suitable candidates to educate students to avoid crime are the police.
The police not only have a fantastic understanding of criminal psychology, but also are in a good position to guide
students in the right direction towards being moral citizens.

To conclude, given the psychological issues and the high rate of recidivism in criminals, | believe that criminals
released from prison are unsuitable candidates to educate students.
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Some people think that the best way to reduce crime is to give criminals longer prison sentences. Others
however, think there are better ways to reduce crime. Discuss both these views and give your opinion

The rising crime rate has led to increasing public debate about how to reduce crime.

Some people think that sentencing offenders to longer prison terms is the best way to reduce crime. They argue that if
the punishment for crime is not harsh enough, it cannot deter potential criminals, and a high proportion of offenders
will re-offend. Also, it is mainly through imprisonment that criminals are forced to reflect on their crimes. Longer
prison terms are therefore more likely to make offenders change their behaviour and become law-abiding citizens

after they are released from prison.

Others, however, believe that there are better ways to reduce crime. Increased police patrols in neighbourhoods with
high crime levels can effectively deter crime in these areas, while censorship of violent scenes in the media can
reduce people's exposure to media violence and help to reduce violent behaviour among them. If the government
provides people with better and more affordable education and job training, and creates more employment
opportunities by improving the economy, poverty and crime rates will also decline. Even if we depend on prison to
reduce crime, providing prisoners with job training programmes is better than giving them longer prison terms
because job training can help them to find jobs and develop careers after serving their sentences. By contrast, having
to spend longer periods in prison would damage prisoners’ health and lead to resentment among them.

My own view is that punishing criminals with longer prison terms may be effective in deterring them from
re-offending. However, reducing media violence, creating more job opportunities and rehabilitating offenders into

useful members of society are more constructive measures to reduce crime.
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5: FOFELERBZ—RRFAL

Some young people commit serious crimes, such as robbery or violent attacks, some people think they should
be punished in the same way as adults. To what extent do you agree or disagree?

Juvenile offenders, regardless of age, are just as culpable for their crimes as adult offenders and must accept
responsibility for their actions. However, I do believe the age of genuine culpability varies in each case and can alter
according to the situation.

It may be the case that a ten-year-old boy is unaware of the ramifications and legality of theft or robbery, but that
does not mean he should escape justice. Nonetheless, it surely cannot be acceptable to hand out the same punishment
as an adult would receive for committing the equivalent crime. At the age of ten, the child still has the capacity to
correct their behaviour before arriving at adulthood and should come under the protection and care of the relevant

authorities on child development, perhaps receiving some form of mentorship or counseling.

In extreme cases, such as murder and violent attacks, serious punishments must be considered. A case in point is the
infamous murder of James Bulger in Liverpool in the 1990s. His assailants were two boys aged eleven. They received
a severe penalty which saw them incarcerated in a young offenders institution for the remainder of their childhood,
before they were transferred to an adult prison upon reaching the age of eighteen. Given the horrific nature of the

murder, surely there is little doubt that prison was the appropriate punishment.

In general, I think the punishment should be decided according to the age. Furthermore, I would err on the side of
caution before issuing heavy punishments to young people, yet in extreme cases such as violent attacks or murder,

prison should most certainly be considered. (257 words)
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6: BURFMARIZTBER

Some people believe that the government should support people who work for arts, such as painting, theatre or
music financially. Some people believe that they should find other financial support resources instead. Discuss

both views and give your opinion.

Undoubtedly, the development of culture and arts should be supported by the government. But whether artists should
be supported financially by government remains controversial due to the uniqueness of this issue.

Some people take it for granted that artists funded by the government can devote themselves to art work without
worrying about any other things. But facts show that once their income is determined by governments, their views,
lifestyles and even the contents of works will be more or less influenced by the authorities. Thus, artists find it hard to
maintain their independent work styles and critical thinking. On the other hand, the works and results of art are in
most cases abstract and it is hard to estimate their value. Thus, it is difficult for the government to judge how much
should be invested in such a field. From this aspect, it seems that corruption and extravagance will arise due to the

lack of lack of impartiality and transparency. It will be unfair for taxpayers.

Of course, it does not necessarily mean that artists should be excluded from any funds from the government. The
point is artists should find some other sources of investment such as the market or some non-government
organizations. They can exercise their creativity and talents to create excellent works to satisfy the needs of the
market and thus receive greater rewards from their customers. This practice is beneficial both for the artists and for
the art itself.

In conclusion, the funds from the government seem to be a barrier for artists’ independent creation and the full
display of their talents. Compared with government funding, free competition and creation to get market recognition

is a better way for balancing financial support and artistic integrity.
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Traffic and housing problems in major cities could be solved by moving large companies and factories and
their employees to the countryside. To what extent do you agree or disagree with this opinion?

The rapidly growing populations and car ownership have caused frequent traffic congestion and housing shortages in
major cities. Some people think that the traffic and housing problems can be solved by relocating large companies
and factories in these cities to rural areas. I completely agree with this view.

Employees commuting by car is an important contributing factor to traffic congestion in urban areas. Moving large
companies and factories to rural areas can significantly reduce the number of company and factory employees’
private vehicles on city streets, especially during rush hours. The amount of leisure-related traffic will also decline
because many employees will relocate to the countryside to live closer to their workplace. Another benefit is that the
amount of traffic caused by the transport of office supplies and factory products is also likely to fall if large

companies and factories are moved to rural areas.

Moving large companies and factories to the countryside also helps to solve housing problems in cities. In urban
areas, a high percentage of housing is owned or rented by employees of large companies and factories and their
families. Moving these firms and factories to the countryside is likely to lead to the relocation of their employees.
This means that more accommodation would become available to other residents of large cities, and would help to
reduce the housing bubble in many large cities.

For these reasons, I agree that moving large companies and factories from major cities to the countryside can
significantly reduce commuting and leisure-related traffic, and the demand for accommodation, which would make it

an effective solution to the chronic traffic and housing problems in these cities.
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The government is spending enormous amount of money on old buildings in big towns. The government would
get more benefit if that money were spent on new housing and road development. Do you agree or disagree
with the statement?

The government spends an enormous amount of money on the restoration and preservation of old buildings in big
towns. This is a controversial topic, as some people believe that that money would be better spent on new housing
and road development. Personally, I think there are points to be made on both sides of the argument, but ultimately I
support the government’s choice to spend money on the preservation of old buildings.

There is a growing amount of people who believe caring for the current needs of society is far more important than
preserving historical buildings. With the money used for reservation, a lot of new housing, public buildings, and new
roads could be built. This would improve the quality of life for thousands of people within the city, therefore it is far

more important than the preservation of old buildings. This is an admirable belief, but I personally think it is flawed.

Many people understand that the old buildings the government spends a lot of money on are far more than just old
buildings. These buildings are part of our history and our culture. They are incredibly important because of the story
they tell and the history they contain. New housing and better roads are important, but it is also important to respect
our history and preserve important cultural sites. To do so, takes a lot of money, which is controversial, but I believe
it is important work that needs to be done.

Therefore, while I do agree that there would be a great social benefit if the money used for preservation were instead

spent on new housing and roads, I think the cultural loss of historical buildings is too costly for this to be justified.
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Nowadays, some people claim that public museums and art galleries will not be needed because people can see
historical objects and works of art by using a computer. To what extent you agree or disagree with this

opinion?

In recent years, the common person has developed an increasingly fast-paced style of life. These individuals tend to
view content and culture through digital media rather than visit museums and galleries to see things in person. There
are those who would even go as far as to argue that we no longer need museums and art galleries since everything can
be viewed and enjoyed through our cell phones instead. I wholeheartedly disagree with this view.

I hold the belief that the intrinsic value of an artwork is contained in the act of viewing it in person. It is common
knowledge that many people often view pictures of artefacts in history books. However, when people gaze upon the
genuine artefacts closely in a museum, they can see the clear patterns and carvings on each cultural relic. Through the
museum, people have the opportunity to appreciate and marvel at the exquisite craftsmanship of ancient civilizations
and discover new knowledge about their culture. This is an experience that cannot be reproduced by mobile phones

and technology.

Furthermore, we must admit that despite the fact the pace of life is increasing exponentially, there are still many
people who adore museums and galleries. These people will visit and patronize art exhibitions in their free time, for
them, visiting museums or art galleries is an effective relaxation method. We must take the interests of these people

into account.

All in all, I think museums and art galleries are very important cultural places. The meaning and value of their
existence is to display history, they create the kind of feeling of looking across the river of time that no technology

can recreate.
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In many countries, the proportion of older people is steadily increasing Does this trend have more positive or
negative effects on the society?

We can come across old people everywhere - in restaurants, on airplanes, in hospitals and even in Disneyland! Things
are quite different from what it was 20 years ago. Is this change in demography good or bad for society? I would say
it has more negative effects than positive ones.

Doubtlessly, older people are very experienced in life, so to society, and particularly to the younger generation, they
are a valuable treasure. This is because older people can give us constructive suggestions and can assist us in doing
many different things, preventing us from making mistakes. So, seen from this perspective, an increasing proportion

of older people in the population are not necessarily something bad.

However, it would not be accurate to say that having an older population always benefits us. It also has negative
effects on society. First of all, the aging population is retiring from the working world. That means it does not offer
society the labour it needs for its sustained economic growth. Japan has actually been troubled by its aging labourers.
Japanese people are even encouraged by their government to give birth to more babies, not for themselves, but for the

nation!

Secondly, rapid social development calls for more people with creative and innovative minds and generally speaking,
this refers to young people. Electric bulbs and computers would never have come about without groups of young
people who were not happy with the status quo and were bold enough to challenge established traditions. It is said

more than 80% of the great inventions and literary works are created by people under 40 years old.

In a word, while older people enlighten us with their rich experience, they use up more than they produce. At the
same time, they are more likely to follow rules docilely. Therefore, the demerits of an aged population far outweigh

its merits.
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Many animal species in the world are becoming extinct nowadays. Some people say that countries and
individuals should protect these animals from dying out, while others say we should concentrate more on
problems of human beings. Discuss both views and give your opinion.

For centuries, the large-scale expansion of human beings has given rise to the extinction of many species in the world.
In consequence, there arise many animal rights activists, who claim that mankind should protect wild animals at any
cost lest they disappear. However, opponents argue that animals should be conserved only when people’s own needs
are satisfied. This essay will analyse both points of view.

Conserving endangered species is essential, as their existence has brought numerous benefits to human beings. Wild
animals are essential components of the delicate ecosystem, and the extinction of one species is likely to cause the
disappearance of another. Also, biodiversity is one of the most valuable assets that humanity possesses. Many
inspirations for inventions derived from various animals, for instance, aecroplanes, which originated from the Wright
bothers’ careful observation and examination of birds. Thus, wild animals can act as an incentive for the development

of the human race

However, in some countries, especially developing countries, the basic interests of human beings have not been
satisfied. Poverty, famine, epidemics, and natural disasters pose a severe threat to many citizens of the world. If the
limited government budget is allocated to animal conservation, many people will face huge difficulty making a living.
Therefore, protecting basic human rights should be the top priority of these countries.

In conclusion, protecting wildlife is of great significance, as it is a vital cornerstone to the survival and future
development of mankind. Nevertheless, the huge financial cost of animal conservation is not what every country can
afford. Therefore, endangered animal species can be conserved only when every country on the planet makes its own
effort. Developed countries should provide financial aid to their poorer counterparts in order to ensure the peaceful

coexistence of animals and human beings.
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Some people believe that the best way to build a happier society is to ensure that there are only small

differences between the richest and poorest members. To what extent do you agree or disagree?

Some people maintain the view that the smaller the gap between the rich and the poor, the happier the society

becomes. However, in my point of view, this is not always the case.

Admittedly, when the gap between the rich and the poor is small, people will have less sense of deprivation when
comparing their own wealth with that of others. Nevertheless, a smaller gap does not necessarily bring more
happiness to the society. This is the conflict between the size of the economy and the distribution of social wealth
quite common in economics. If a country is trapped in poverty and decides not to develop for fear of expanding the
income gap, then people will enjoy more equality but less wealth and happiness. Besides, if the income gap becomes
too small, the motivation for people to work hard in order to move up the social ladder and earn higher salaries will

decrease. This may encourage laziness, thus hampering social development.

In addition, merely narrowing the gap between the rich and the poor fails to ensure social happiness. Other things like
improving social facilities, the well-fare system and providing more care to the general public will be
more efficient to raise people's sense of happiness. Only by focusing on the well-being of our people, so that the sick
are treated, the old are cared for and the young are educated, can we build a more harmonious society.

In conclusion, narrowing the gap between the rich and the poor can reduce people's sense of deprivation.
Nevertheless, this way alone cannot ensure a happier society. What we really need to consider is how to improve the

well-being of our people instead of just thinking about how to decrease the gap.
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We are surrounded by all kinds of advertising, which significantly influence our lives. Do the positive effects of
advertising outweigh its negative effects?

Every year there arise some outstanding advertisements which promote the products and also inspire our creativity as
well. In my opinion, advertisements indeed enrich our lives and makes purchasing more convenient, but we should

not ignore that some poorly made advertisements may lead to misunderstanding.

Various advertisements serve different purposes and their function goes beyond entertaining people. In reality,
advertising boasts some practical significance. For instance, people can get updated information about the latest
products without making any efforts. Modern people are living under great working pressure and pace, so it is hardly
feasible for them to know various products naturally. Advertisements provide them with an alternative which is more

convenient and efficient.

When it comes to the positive effects of advertisements, one thing should never be neglected. It is well known that
not all advertisements serve practical and commercial purposes. Advertisements for public awareness and welfare
should be acknowledged. Their role in promoting social values and advocating good social order has been widely
recognized. For most people, advertisements are far more than a repetitive cajoling which coaxes customers to buy

more. Creative advertisements reflect the intelligence of modern commerce.

However, all these afore-mentioned merits cannot eclipse the dark sides of modern advertising. Surely, nothing is
foolproof, and advertising is no exception. At present, the main problem of the advertising industry lies in the fact
that there is too much misleading and exaggerated information in promotion. And impulse buying is a commonly

seen phenomenon in supermarkets, which is regarded as the consequence of excessive advertising.

So, in my point of view, although advertisements are misleading to some extent, I think advertisements do have a
positive effect on our life in practice.
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Advertising discourages us from being different individuals by making us want to be and look the same. To
what extent do you agree or disagree?

Some experts believe that commercials, to a large extent, prevent people from pursuing their individuality primarily
because they make consumers blindly purchase same products such as the latest electronic gadgets and clothes. I am,

however, not convinced by this view.

Admittedly, massive promotion campaigns designed by manufactures could deliberately manipulate consumers’
purchasing behavior towards some specific brands of products and therefore monopolize the market, creating so
called trends or fashions over a short period of time. However, it is by no means to claim that commercials would
influence buyers to such an extent that they all expect to follow the same lifestyle with handsets or dresses designed

by globally prestigious corporations.

After all, most people choose their favorite products mainly out of personal preferences and affordability. Some
luxurious perfumes and handbags, for instance, can only attract some business tycoons living in upper class with
strong financial clouts rather than consumers with average incomes, who would not buy products with stylish shapes
but with numerous practical functions and reasonable prices, no matter how heavily their makers are willing to spend
on commercials. As the ongoing financial crisis drastically dampens people’s purchasing power, this is one of the
reasons why it is ridiculous to assume that advertising can block consumers’ sensitivity to prices and qualities.

In conclusion, despite the fact that advertisements do promote sales among different groups of people, we shall not
become too conscious and expect that everyone would become fan of Apple computers or Chanel’s clothes. The more
likely scenario, by contrast, is that competitions will become increasingly heated as consumers with more and more

diversified tastes and needs are prompt in our current crunch time.
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Nowadays, a large amount of advertising is aimed at children. Some people think this can have negative effects
on children and should be banned. some people consider advertising will not have a negative effect on children.
Discuss both side and give you own opinion.

More advertising is now aimed at children than ever before. This essay will discuss both sides of this phenomenon
and give my opinion that the government should take measures to regulate relevant advertisements which are aimed
at children.

Many parents argue that advertisements mislead children about the benefits of the products and cause them to form
negative habits. This is true to some extent. A large proportion of advertisements aimed at children promote junk food
and toys that contribute little to children's physical and social development. As it is harder for children to resist the
influence of advertising than for adults, many of them buy advertised junk food and toys, or ask their parents to buy
these products for them. Children who are frequently exposed to advertising are therefore more likely to develop an

unhealthy diet and spend too much time playing with toys.

By contrast, some companies claim that the advertisements of their products provide children with access to a large
amount of useful information. For example, some TV commercials are for educational toys that can develop
children’s thinking abilities, language skills or artistic creativity. There are also advertisements that help to promote
healthy lifestyles among children, such as TV commercials for sports products and outdoor activity products. They
tend to feature famous athletes or natural scenery, and encourage children to lead a more active lifestyle.

My own view is that snack and toy advertising that targets children should be regulated by the government, and more
research on the long-term effects of advertising on the rates of children’s diet-related diseases, such as obesity and
high blood pressure, should be conducted by scientists.
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Some people think that using mobile phones and computers has a negative effect on young people's reading

and writing skills. To what extent do you agree or disagree?

Using electronic products such as mobile phones and computers has become an indispensable part of our daily lives.
Some people believe that the popularization of these devices would affect young people's ability to read and write. I

agree with this viewpoint to a great degree.

An important function of these communication tools is to enable people to interact with each other via sound and
pictures. Such activities as making phone calls and sending voice messages and photos can be done with a mobile
phone, which means people have fewer opportunities to read and write. Although some people still write text
messages, the language in this context is quite simple and informal. Therefore, there is every reason to believe that

using mobile phones may undermine young people’s reading and writing skills.

Another essential device in life is the computer which has the same negative effect. When people write on the
computer: they pay less attention to their spelling and grammar, as the mistakes can be corrected automatically with
the help of Office Software. This is particularly harmful to teenagers: who need to practice writing by hand and
develop writing skills at an early age. Some people may argue that the computer and the Internet provide people with
more materials to read: but the fact is that most of the reading done before the screen is about news and only contains

short passages. Fewer young people choose to read literature in books.

Based on the points outlined above, I agree that using computers and mobile phones have a negative impact on young
people's reading and writing ability. It seems unrealistic to ban the use of these devices among them, but we need to

encourage them to stay away from electronic devices for some time in their daily lives.
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Nowadays more and more people are using cell phones and computers to communicate with others. Therefore,
they are losing the ability of face-to-face communication. To what extent do you agree or disagree?

With the rise of technology and new forms of communication, more and more people are using cell phones and
computers to communicate with others. There are some people who believe that because of this we are losing the
ability of face-to-face communication. This essay shall show the strengths and weaknesses of this argument before
coming to the conclusion that I disagree with this statement.

Some people believe that when people communicate through cell phones or computers, they do not practice important
skills for face to face communication. For example, eye contact and reading body language are important aspects of
face to face communication which are not practiced when communicating through a cell phone. Furthermore, the use
of texting means that people only practice premeditated writing, this means they are not used to speaking

spontaneously which is necessary in face to face communication.

However, I believe these views to be extreme and do not think the use of cell phones and computers hinders face to
face communication. Firstly, even though communication through technology is more common, people still
communicate face to face on a regular, daily basis. Therefore, most people practice face to face communication
frequently, regardless of cell phones and computers. Secondly, communication through a cell phone gives people the
opportunity to think more deeply before they reply. For one, it can reduce the chances that people say something

wrong and furthermore it may improve people’s abilities in face to face communication

Therefore, overall, I believe that not only does communication through technology not hinder people’s ability to

communicate face to face, but it may also improve it.
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The leaders or directors of organisations are often older people. But some people say that young people can

also be a leader. To what extent do you agree or disagree?

It is often the case for large organisations to have elderly people as the senior management team. However, it is an
ever more commonly held opinion that young people should also be awarded opportunities to exercise leadership.
Personally, I moderately agree with this view.

Admittedly, appointing elderly people to positions of leadership or as directors in an organisation garners with it a
plethora of benefits, particularly in traditional industry. Firstly, it is undeniable that the old are endowed with rich
experience in management and tend to possess big-picture thinking and long-term vision. They are more considerate
when it comes to forming important decisions and therefore can drive things towards the best possible outcomes.
Besides, compared to young people, the older generation is generally more perseverant and strong-willed when facing
adversity. The elderly are characteristically far more responsible, which is imperative in leadership for the success of

a whole team.

Yet, the counter argument is that young people possess greater creativity and are receptive to new ideas and business
strategies. This is vital for new start-ups, such as an aesthetic design studio or an internet company, in which a
youthful leader can energize and invigorate the entire team! The youth are openminded, and thus receptive to new
ideas and willing to experiment. Younger leaders are superior at comprehending the needs of contemporary youth,
and their products are often immensely popular. In addition to these advantages, young leaders are more energetic and

physically strong, therefore they can better adapt to high-intensity work.

In conclusion, my conception on the matter is that different industries require different managers. Regardless of their
lack of experience, young people should be encouraged to undertake leadership roles and to take on more
responsibilities. In order to compensate for their shortcomings, related training before they exercise leadership and

mentoring programs by the older generation at the workplace are essential.
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In many countries, more and more men are staying at home to look after children when women work full-time.

What are the reasons? Is it a positive or negative development?

There has been a rising trend in many countries for more and more men to stay at home to look after children when
women work full time. This essay shall explore the reasons behind this change before coming to the conclusion that
this is a positive rather than negative development.

The main reason behind this change is that there has been a rise in female equality throughout the world. There was a
time when women were considered inferior to men, and therefore did not have the same access to well-paying and
successful careers. It is an outdated view nowadays. As women’s rights improve and society becomes more equal
then there are more women working in high paying jobs. People understand that it is equally the responsibility of the

man and the woman to look after children.

Some people may say it is negative as it goes against traditional values and that men should be working instead of
looking after children. Men are usually considered to be careless, and taking care of children requires a lot of patience.
Some simply believe that fathers are not as good as mothers at raising children. However, these views are very sexist,
so I don't trust them very much. In addition, in a family, if women can get a higher salary, the family will be in a
better economic condition. This is beneficial to the growth of children. For example, if a mother is a lawyer and the
father is a taxi driver it would be bad for the family if the mother left her job to care for the children at home.

The fact that more and more stay-at-home dads are appearing is evidence that society is becoming more equal. So,

this is a very positive thing.
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Some people think that fatherhood ought to be emphasised as much as motherhood. To what extent do you

agree or disagree?

I believe that child-rearing should be the responsibility of both parents and that, while the roles within that
partnership may be different, they are equal in importance. In some societies, it has been made easier over the years
for single parents to raise children on their own. However, this does not mean that the traditional family, with both
parents providing emotional support and acting as role-models for their children, is not the most satisfactory way of

bringing up children.

Of crucial importance, in my opinion, is how we define “responsible for bringing the children up”. At its simplest, it
could mean giving the financial support necessary to provide a home, food and clothes and making sure the child is

safe and receives an adequate education. This would be the basic definition.

There is, however, another possible way of defining that statement. That would be to say that it is not just the fathers’
responsibility to provide the basics for his children, while his wife is busy with the everyday activity of bringing them
up. Rather, he should share these daily duties, spend as much time as his job allows with his children, play with them,
read to them, help directly with their education, participate fully in their lives and encourage them to share his.

It is this second, fuller, concept of “fatherhood” that I am in favor of, although I also realize how difficult it is to
achieve sometimes. The economic and employment situation in many countries means that jobs are getting more, not
less, stressful, requiring long hours and perhaps long commutes to work as well. Therefore equality in parenting roles

may remain for many a desirable ideal rather than an achievable reality.
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Natural resources such as oil, forests and fresh water are being consumed at an increasing rate. What
problems does this cause? How can they be solved?

Nowadays, many people are concerned that the earth’s finite reserves, including fossil fuels, woodland and water
resources, are being carelessly squandered. At the same time, however, there is some uncertainty as to the problems
this causes, and how they might be solved. This essay will review the issues in an effort to seek some answers.

To begin with, there is no doubt that oil is a key international commodity, and endless wars are still being fought to
control the remaining supplies as they dwindle away. Moreover, a similar situation exists with water, whose reserves
may not be quite as close to exhaustion, but countries are nevertheless damming rivers and threatening neighbours in
anticipation of shortages to come. In addition, the destruction of rain forests around the globe has contributed to

climate change and the extinction of species, causing lasting damage to the ecological balance.

On the other hand, as regards solutions, the oil price is already falling with reduced demand as science and
technology provide much-needed answers, especially in the form of electric vehicles and green energy. In addition,
fresh water supplies could be conserved by better management, eliminating pollution, creating treaties among
neighbouring countries, and developing desalination technology in coastal nations. Furthermore, rain forest
destruction could be mitigated by recycling technology if plastics and other waste could be locally converted into
cheap, light construction materials.

To summarize, there is no doubt that the negligent waste of natural resources is a sad testament to human apathy and
greed. At the same time, however, thanks to contemporary technology, alternative resources and improved
conservation can be achieved. In the final analysis, however, the simple answer is that countries need to switch from

fighting over resources to constructive cooperation.
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The central government, the city government and individuals should all be responsible for protecting the

environment. Do you agree or disagree?

I agree with the view that the central government, the local government and citizens all have responsibility for
environmental protection. But I also think that they should bear the burden according to their own sphere of

operation.

The central government can make and enforce environmental laws. It can also carry out environmental improvement
projects of national scale because they are projects that only the central government has the authority and resources to
carry out. The central government also has public media resources to mobilize public opinions as its environmental

projects need public support.

Municipalities also have their roles to play because of their knowledge about their cities and their authority to grant
construction permission and build waste disposal and sewage treatment facilities. Local governments also have
control over local school districts and are therefore able to set up environmental education programmes to increase

students environmental awareness in primary and secondary schools.

Environmental protection also involves changes in citizen’s attitudes and lifestyles. They can choose public transport,
cycling or walking over driving private cars to reduce carbon emissions. As consumers, individuals can select
environmentally-friendly products over less eco-friendly choices. Also, by giving up smoking, smokers can help
themselves as well as other citizens to reduce the risk of respiratory diseases. Furthermore, it is always individuals

who are in the best position to encourage and persuade other individuals to care for the environment.

In conclusion, I believe that the central government, local governments and individuals all have responsibility for
protecting the environment. Only through wide-ranging and well- coordinated efforts at national, municipal and

individual levels can environmental protection be truly successful.
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In some countries, more and more adults choose to continue to live with their parents after they graduate and

have found jobs. Do the advantages of this trend outweigh its disadvantages?

As the modern world changes, it is becoming a much more frequent trend for adults to continue to live with their
parents after they graduate and have found jobs. Although, there may be some disadvantages to living with one’s
parents this essay shall explain why the advantages outweigh its disadvantages.

Firstly, the modern housing and rent market has gone through a crisis in recent years making it very difficult for
young adults to afford to live by themselves. In many countries the idea of buying one’s own house is not a
possibility for young adults with property prices far beyond what they can earn in the early stages of their careers.
Furthermore, for many young adults in urban areas, rent prices can come to be as much as two thirds of a person’s
monthly income. Therefore, moving out of your home as a young adult is a costly and difficult situation which many

people would rather postpone.

Furthermore, continuing to live in one’s parent’s home offers financial security and stability. Whilst living with one’s
parents, a young adult does not have to pay an exorbitant rent, and bills and expenses can be split between the family.
This allows a young adult to save money and therefore afford a nicer house in the long-term rather than if they left
home straight away.

Thus, to conclude, whilst living with one’s parents may deny an individual a certain degree of freedom, the financial
benefits in the long term are far more advantageous. Therefore, the advantages of this trend far outweigh its

disadvantages.
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24: B EP%G 5T EERMR T MEERBIZ S AR BIIG ?

Rich countries often give financial aid to poor countries, but it does not solve the poverty. So rich countries should
give other types of help to the poor countries rather than the financial aid. To what extent do you agree or
disagree?

Financial support has been given to underdeveloped nations for many years as a means of bringing them out of
poverty. However, it seems useless in most of the situations, in this case, other feasible solutions should be
considered,. | moderately agree with the latter opinion, especially for poorer countries' long-term development, and
| offer my reasons for this thinking below.

Admittedly, the money offered by developed countries helps the economic and administrative system within the
undeveloped nations to operate once again. With higher governmental budgets, it is possible to purchase or import
more resources and modern techniques. Consequently, the economy and living standards of the residents can be
enhanced, resulting in greater production because the workers are more motivated as they see the benefits this
brings to their nation. Many low income countries such as Laos and Cambodia have benefited in this way.

Nevertheless, it is undeniable that most impoverished countries are poor because of the lack of available access to
resources, which emphasizes the need for other forms of aid. Moreover, money can only relieve short-term
concerns instead of solving economic matters permanently. In this situation, wealthier countries are supposed to
help poorer countries by offering technologies and a wide range of resources, ranging from human resources like
professional workers, experts in the infrastructure field to medical care services and support for the education
system. With a greater range of different forms of aid available including all the factors of production, the
underdeveloped nations are able to establish their own assembly line and become self-reliant in the long run.

To summarize, it is true that financial aid should be offered to impoverished countries since it can solve their urgent
economic concerns in the short term. But providing other types of aid would still be more rational in the long run.
Therefore, if people really want to help those countries out of poverty, providing other forms of aid is more justified.
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25: WSR2 R BT E?

Many people believe that bicycles are a healthy and environmentally friendly mode of transport. However, it is no
longer the main form of transport. What are the reasons? What could be done to encourage the use of bicycles
among the wider population?

In today's society, private cars and public transportation have become the main means for transportation for most
people. It is noted that the bicycle has largely been replaced even though it is a green form of transportation. This

essay is going to discuss why this phenomenon exists and how to popularize its use with the public.

There are two main reasons explaining the decline of bicycle riding. To start with, urban planning has widened cities
which means that plenty of people have to take long-distance travel to go to school or work. In this case, the
features of the bike restrict its usage, as the low speed is unsuitable for long distances. Thus, it is unrealistic to
choose a bike for long-distance commuting. Apart from that, an increasing number of people desire to have pleasant
travel experiences instead of merely aiming to reach their destinations. Unlike bikes, on which riders are exposed to
the sun, most motor vehicles can offer travelers air-conditioning, instead.

Luckily, thanks to the widespread application of technology, an increasing number of people are becoming bike
lovers in many metropolises. The most popular and effective programmes are the shared bike schemes in almost
every mega city in the modern world. After commuters come out of the rail or tube system, they can easily take a
shared bike to reach their homes quickly. Besides, additional campaigns could hugely improve citizens’
environmental awareness, paving the way for the popularity of bike riding as more individuals start to care about
their physical health and adopt a low carbon lifestyle.

To summarize, in the recent past, the development of urbanization and technology hastened the elimination of
bicycles. Now, however, more and more urbanites are becoming bike riders due to the attractions of a healthier
lifestyle. Therefore, popularizing the shared bike programs would motivate even more people to start cycling.
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REER:

No.1: Mode of transportation

You should spend about 20 minutes on this task.

The table shows the percentage of journeys made by different forms of transport in four countries,
The bar graph shows the results of a survey into car use in Canada.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

Journeys made by  Canada Belgium Germany Netherland
Car 90% 72% 68% 47%

Bicycle 1% 2% 2% 26%

Public transport 3% 12% 18% 8%

On foot 5% 11% 11% 18%

Other 1% 3% 1% 1%

Work nightshift
Quicker

Meed for work

L] 10 20 30 4

Mo alternative

0 20
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Example answer:

The table compares modes of transport used in four countries: Canada, Belgium, Germany and the Netherlands.
The percentage of journeys made by car, bicycle, public transport and on foot is given. The bar chart shows the

results of a survey into reasons people in Canada travel to work by car.

As can be seen from the table, cars are the most frequently used form of transport in all four countries.
However, the proportion of journeys made by car ranges from a low of 47 per cent in the Netherlands to a high
of 90 per cent in Canada. Figures for the other forms of transport also varies considerably. Not surprisingly, in
the Netherlands, a high proportion of trips were made by bicycle (26%) and on foot (18%). The highest rate of

public transport use is in Germany, where nearly one in five journeys is made by public transport.

The bar chart provides information that may help explain why car use in Canada. The most frequently cited
reason is lack of any other alternative (38%). Although a sizable percentage says it is more convenient (22%),

the other listed factors appear to relate more to need than preference, e.g. working night shift.

Overall, the figures show considerable variation in modes of transport used, though the car continues to

dominate in most contexts.

(223 words)
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No. 1: Waste Products

You should spend about 20 minutes on this task.
The pie charts below show how dangerous waste products are dealt with in three countries.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

@ . Republic of Korea Sweden

22%

@> 9% 55%

69%
United Kingdom
0
AAA
/_’ AAA
aé, 8% %
82%
@) % ) A
~ € PSS
Recycling Incineration® Underground Chemical Dumping at
treatment sea

* Incineration: a way of destroying something by fire
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Example answer:
The charts compare three countries in terms of the methods they use to treat hazardous waste products.

Overall, recycling is the most widely-used approach to treating hazardous waste in Korea, in contrast to
Sweden and the UK which rely mainly on landfills. Furthermore, the United Kingdom employs a more varied

set of waste handling schemes.

In Korea, the most significant share of dangerous waste (69%) is recycled. The second highest proportion, 22%,

is buried underground while less than half this figure is incinerated.

Sweden, on the other hand, favours landfills over the other two approaches since more than half of all
dangerous waste is buried underground. There is little difference between the shares of recycling and burning,

as the former accounts for 25% whereas the share of the latter is lower by a margin of 5%.

The most popular method in the United Kingdom, like in Sweden, is burying which contributes 82%. The UK
also dumps 8% of its waste at sea while treating a similar proportion with chemicals to render it harmless.

Incineration is responsible for a mere 2%.

(180 words)
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No. 2: Spending and population

You should spend about 20 minutes on this task.
The charts below give information about world spending and population.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

World Spending World Population

Food 24% Other Europe
5% —\ - 14%

Other 40%
_\ /_Americas
i 14%
_—Clothing _ 4
6%
Housing Asia_/ ' \_Africa
e 12% 57% 10%

187%

Example answer:

The pie charts compare the shares of four major items in global expenditure, as well as how global population
is distributed.

Overall, the largest proportion of money in the world is allocated to food, while transport, housing and clothing

are other significant items. Moreover, the population of Asia is responsible for the largest group of humans.

According to the first chart, the most significant amounts are paid for food (almost a quarter of global
expenditure) and transport (almost 20%), while housing also accounts for a considerable proportion. The least
among the four is spent on clothing (merely 6 percent) and the remaining 40% is spent on a variety of other

items.

The second chart shows that there is a significant difference between the population of Asia and that of other
continents since approximately 3 out of every 5 human beings live in Asia. Europe and the Americas share
similar proportions and together are host to roughly one-third of the world’s population, while the inhabitants

of Africa form a mere one-tenth.

(170 words)
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No. 1: Consumer goods

You should spend about 20 minutes on this task.
The chart below shows the amount spent on six consumer goods in four European countries.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

Amount spent on consumer goods

Personal stereos

l

Tennis racquets | Germany
___| haly
B France

|| k—l Bl Gitain

Perfumes

CDs

Toys

Photographic film

100 120 140 160 180
thousand pounds sterling
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Example answer:

The diagram compares how much money was spent on six different products in Germany, Italy, France and

Britain.

Overall, more money was spent on toys and photographic film than on any other product. Also, the British
were the biggest spenders in all six categories among the nations compared in the bar chart, while the lowest

spending levels were attributed to German consumers.

In Britain, the highest amount of money was spent on photographic film (more than 170 million pounds), while

similar amounts were spent on personal stereos and tennis racquets which together ranked last.

The French spent the second highest amount of money among the four nations on compact disks, toys and

photographic film, while they ranked last in personal stereos, tennis racquets and colognes.

Italian consumers spent more money on toys than on any other product (a bit less than £160 million), but they

also paid a lot for photographic film.

Finally, Germans spent the least overall, having similar spending figures for all 6 products compared in the
chart.

(170 words)
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No. 1: Consumption of meat

You should spend about 20 minutes on this task.

The graph below shows the consumption of fish and some different kinds of meat in a European
country between 1979 and 2004.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

w
o
o

250 - Chicken

100

Grams per person per week

50

Fish
O L} L) L) L) L)

1979 1984 1989 1994 1999 2004
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Example answer:

The diagram compares changes in consumption figures for different kinds of meat and fish in a country in
Europe from 1979 to 2004. Overall, although beef was initially the most popular type of meat, it was overtaken
by chicken towards the end of the survey. In contrast, the figure for fish remained the least significant

throughout the period.

In the first year, beef had a consumption of about 225 grams per person per week, after which it experienced a
sudden drop of 50 before increasing to about 230 in 1984. There were small fluctuations until 1989, which was

followed by a dramatic decrease to around half as high as its original level in 2004.

The figure for lamb was initially almost as high as that for chicken (around 150 grams). However, while the
former declined gradually as it reached approximately 60 in the last year, the latter saw a considerable growth

and outstripped beef consumption in 1989, peaking at 250 in 2004.

Fish consumption was originally approximately 60 grams and experienced a small fall of about 10 over the

period.

(180 words)
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No. 2: Gold sales

You should spend about 20 minutes on this task.
The graph below gives information about Dubai gold sales in 2002.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

Dubai Gold Sales 2002

400

350 A
300

E 250 /f \\
j > >~

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

Example answer:
The diagram illustrates how gold sales in Dubai changed from January to December 2002.

Overall, the figure fluctuated widely before returning to its original level at the end of the year. Besides, gold

sales were at their highest in March, while the weakest figures could be observed in July and September.

In the first month of 2002, the figure stood at 200 million dirhams and rose slightly to reach about 225 million
in February. This was followed by another increase, although much steeper, in March when sales hit 350
million. However, this upward trend was suddenly broken and sales declined dramatically over the next 4
months to reach a little over 100 million in July. August sales saw a significant rise back to January levels as
the figure nearly doubled, but it dropped again in September to the same level as it was in July. There was a
small increase of about 100 million dirhams in October, after which the figure levelled off and remained

relatively unchanged over the last two months of 2002.

(174 words)
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No. 1: Sales of coffee and bananas

You should spend about 20 minutes on this task.

The tables below give information about sales of Fairtrade*-labelled coffee and bananas in 1999

and 2004 in five European countries.

Summarise the information by selecting and reporting the main features, and make comparisons

where relevant.

Write at least 150 words.

Sales of Fairtrade-labelled coffee and bananas (1999 & 2004)

Coffee (miIIior::?)? euros) (miIIiorfsog‘: euros)
UK 1.5 20
Switzerland 3 6
Denmark 1.8 2
Belgium 1 17
Sweden 0.8 1
Bananas (millio:sg of euros) (miIIio:: of euros)
UK 15 47
Switzerland 1 55
Denmark 0.6 4
Belgium 1.8 1
Sweden 2 0.9
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Example answers:

The tables show how fair-trade coffee and banana sales changed in five countries in 2004 compared to 1999.
Overall, Coffee sales rose in all countries with the highest sales observed in the UK. Banana sales also rose in

all but two countries, and were highest in the UK.

In 1999, the most significant coffee sales, 3 million (3m) euros were reported in Switzerland, and they doubled
in 2004. The figure for the UK was originally 50% lower than that for Switzerland (1.5m) while sales in
Denmark were slightly higher (1.8m). However, while the former rose dramatically to 20m, the latter remained
relatively stable. There was little difference between the figures for Belgium (1m) and Sweden (0.8m), and

both experienced noticeable increases to 1.7m and 1m, respectively.

UK had the highest banana sales in both years, as they rose over threefold from 15 million euros to 47m. Swiss
sales were originally almost twice as high as those of Denmark (1 and 0.6m, respectively), and both surged,
reaching 5.5 and 4m. There was little difference between the figures for Sweden and Belgium (2 and 1.8m,

respectively), and both nearly halved to reach about 1m in 2004.

(193 words)
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No. 2: YouTube data

You should spend about 20 minutes on this task.

The table shows the average length of YouTube video advertisements and average length of time
viewers spend watching them. Summarise the information by selecting and reporting the main
features.

Write at least 150 words.

Average YouTube Video ad length and time viewed

Average length of YoTube ad Average time
Type of YoTube ad .

(seconds) viewed(seconds)
Public service 66.7 281
Business and finance 351 24.6
Entertainment and

30.8 26.5
news
Travel 287 23.0
Technology 39.3 20.9
Retail 26.5 201
Consumer electronics 24.9 17.3
Clothing 23.4 16.6
Pharmaceuticals 21.8 16.0
Lifestyle 337 14.3
Overall 381 20.4

The table shows the average length of YouTube video advertisements by sector and average length of time

viewers spent watching these advertisements.

The average length of the advertisements varied from a low of 21.8 seconds for pharmaceuticals to a high of
66.7 for public service advertisements. With the exception of government- and technology- related
advertisements, in general, products and services which required a large financial commitment tended to have
longer advertisements. Entertainments, financial services and travel advertisements, for example, were all
twenty eight seconds on average or longer. Less expensive products, on the other hand, such as consumer

electronics, clothing and medicines, tended to have shorter advertisements.

Adverts for more expensive products or services also tended to be watched for longer than adverts for less
expensive items. Viewers on average watched more than 50 per cent of advertisements for entertainment, travel,
business and finance. In contrast, viewers tended to watch less of government advertisements and

advertisements for cheaper goods such as consumer electronics, clothing and medicines.

Overall, length of YouTube video advertisements and length of time spent viewing such advertisements appears

to be associated with the perceived cost of the product or service being advertised.
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No. 1: The town of Garlsdon

You should spend about 20 minutes on this task.
The map below is of the town of Garlsdon and shows two possible sites for a new supermarket.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

' N Countryside
GARLSDON Town Centre
Population 65,000 (notrafficzone)
- Industry
12 km to Hindon B -ousing

population 10,000

—— Railway
—» Mainroads

16 km to Bransdon 25 km to Cransdon
population 15,000 population 29,000
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Example answer:

The map shows two proposed locations for a new supermarket for the town of Garlsdon. Overall, neither site is
appropriate for all the towns, but for customers in Cransdon, Hindon and Garlsdon, the out-of-town site (S1)

would probably offer more advantages.

The first potential location (S1) is outside the town itself, and is sited just off the main road to the town of
Hindon, lying 12 kilometres to the north-west. This site is in the countryside and so would be able to
accommodate a lot of car parking. This would make it accessible to shoppers from both Hindon and Garlsdon
who could travel by car. Since it is also close to the railway line linking the two towns to Cransdon (25 km to

the south-east), a potentially large number of shoppers would also be able to travel by train.

In contrast, the suggested location, S2, is right in the town centre, which would be good for local residents.
Theoretically the store could be accessed by road or rail from the surrounding towns, including Bransdon, but

as the central area is a no-traffic zone, cars would be unable to park and access would be difficult.

(194 words)

WO
WK FER T Garlsdon SEHHHE T AP ANFLBHE A . BEISRE, XA S ERANE & A RO3AE, (EXF T
Cransdon. Hindon I Garlsdon (1% ' K 4d, MMt (ST T RESFR AL Z L.

BT RERI M S (S TEFESL, FRTEIEF Hindon BAR) F EIE M5, Tl 12 A B, XN SIS
T, HMEATLLAER 2=, X4 Hindon F Garlsdon HIWE #EEFFE R4 . H T B HEEITEEN
AYEEAT Cransdon HIERERZR(FRTE 25 A HD), KEBAERIAYE AT DAk 447 .

2T, AL E S2 IEAFAETT oy, XX 3 E ROR VR 473 . WHEIE B3, 76 T Lld it 2 %
Bk i A FEL AR N, 4% Bransdon, {HHI bl R —AMEETIX, IRERLIE S, AR
PRIE R o
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No. 2: Island

You should spend about 20 minutes on this task.
The two maps below show an island, before and after the construction of some tourist facilities.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

After
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Example answer:
The maps illustrate how an island has changed following the development of various facilities for visitors.

Overall, there have been significant constructions in the island in terms of accommodation and facilities for

tourists. It is noteworthy that these developments have occurred without any noticeable damage to the trees.

The length of the island is over 1200 metres while its width varies from about 200 to 500 metres in different
places. Originally, there was a beach to the left of the island, and the eastern and western parts were covered

with woodland, apart from which the island was completely bare.

In comparison, swimming facilities have now been built in the beach. Furthermore, the western woodland is
surrounded by a series of huts which are connected to each other and to the beach via footpaths. There is also a
restaurant in northern part which is connected to a reception building in the middle of the island as well as a
new pier to the south by means of a vehicle track. Finally, a larger set of huts have been constructed between

the reception and the eastern woodland.

(185 words)

R SCRR

XS P RN T B W5 S P A ) R R T R AR AR

SR, B EAIRZ NI R R AMERE AR e A B A . (AR AR, IRk R I AR A AT
] B S FR) 4 56

KRB 1200 K, 105 EAEARFERTTZ) 200 & 500 KA, FHR, BLINE— M,
PR AR, BR T bRz 4h, B E—F7ii.

L2 T, BUEHEME A T sk, Shak, vaiMIg— /Ry NR R, X NEMHEIERE, FE
T MNTIESEMAHE. LA —NET, 55RO REMIE, MRl — sk, @
OB, &n, EEAAAERIHI 2 AdEE T & KN E.
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No. 1: Bricks Manufactured

You should spend about 20 minutes on this task.
The diagram below shows the process by which bricks are manufactured for the building industry.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

sand + water

wire cutter

roller

cooling

ehaiber kiln |In drying oven

48 - 72 hrs -— high -+— moderate 24 - 48 hrs
870°C - 1300°C 200°C - 980°C

packaging
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Example answer:
The picture illustrates how bricks are produced.

The process begins when clay is dug out through the use of a digger, which is followed by clay passing through
a metal grid. Fine clay is then carried by a roller after which sand and water are added to it. In the next stage,
either this mixture is pressed through a frame and cut into bricks using a wire cutter, or it is put into moulds and
formed into bricks. Following that, the bricks are dried in a drying oven for one to two days. The next three
stages involve two kilns connected to a cooling chamber. The dried bricks are first heated from 200 to 980
degrees centigrade, before being exposed to high temperature (870 to 1300 degrees). They are then cooled
within 48 to 72 hours. Eventually, they are packed and delivered to customers by trucks.

Overall, the procedure of producing bricks is comprised of ten stages which are rather simple.

(161 words)

SR 1«
TRl P U B T R AR A

KRG T HZENZHE L, B S m M. g pks td R s, R EMADTRIK.
TERE ToRMBN B, ELAMRAEYEIINESS, FHADIRISUIEI ik, A HIIAELR, Hlht. 25,
FEF T —BIPR . TR =AM B AFER AN SR EMIERN Z . TERAEHRESLE 200 2
980 FEIRFENHFY, SRJ5 B FEAEIR(870 B 1300 ) o SAJGTE 48 E 72 /Nf NA . e, BAII#E LS
U, FAREEREFFH,

SR, A AR A R B 2D SR
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No. 2: Life of bee

You should spend about 20 minutes on this task.
The diagram below shows the life cycle of the honey bee.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

‘ \‘/ Females lay 1 or 2
eggs every three days

"/—\

W\

4 days to maturity

/ Q O

T~ Life cycle takes 0

= \ 34 - 36 days
Eggs
hatch after
_-\_\\ 9 - 10 days
Young ’ 5 days ( ‘\\1\
adult o4
emerges 2 ays J
\ ,‘\\ 7 days
/
»
I
/\—Q‘\ 75N \.—/

Nymph moults 3 times as it grows

Example answer:

The chart illustrates the stages in the life of honey bees. It takes approximately five weeks (34 to 36 days to be
exact) to complete. All in all, this life cycle is comprised of six stages from eggs to fully mature bees.

The first stage is when the female bee lays up to a couple of oval eggs once every 72 hours. These eggs hatch
between nine and ten days later, and immature bees, called nymphs, emerge which lack the typical bee stripes.

Over the next 3 weeks nymphs experience three moulting stages, that is, they shed their skins to allow further
growth to occur: The first moulting happening 5 days after the eggs hatch, a week after which the second one
takes place. Nine days later nymphs moult for a third time and young adult honey bees emerge, identified by
their horizontally striped backs. These take four more days to mature into larger adult bees whose backs are

marked with bolder and darker stripes, and the cycle starts over again.

(171 words)
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No. 3: Produce electricity

You should spend about 20 minutes on this task.
The diagram below shows how geothermal energy is used to produce electricity.

Summarise the information by selecting and reporting the main features, and make comparisons
where relevant.

Write at least 150 words.

Geothermal power plant

Generatgr/S\Turbine

N pe—
<—Steam
Cold (powered by  (powered by Condenser
water turbine and steam)
produces
electricity)
A
Cold Hot
; Awater, : : . w=iwater,
4.5km 2 i S, 5

injection. :

The diagram shows that there are five main stages in the production of electricity through the use of geothermal

energy.

The process begins with cold water being pumped from the surface of the earth down into a 4.5 kilometer-deep
injection well. From there, it is transferred to the geothermal zone, a subterranean region composed of hot

rocks, before reaching the production well, which is a vertical pipe similar to the injection well but a bit wider.

In the stage that follows, the hot water is pumped up through the production well into a condenser on the
surface where it is converted into steam, following which it is used to power a turbine and rotate it. This turbine
is connected to an electricity generator which, when rotated by the turbine, produces electricity. The process
ends when the electricity generated by the generator is transferred to the power grid for consumption by end

users.

(152 words)
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